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DO NOT OPEN THE SEAL OF THE QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO I

Question Booklet Series Code : A ~ Question Booklet Serial No.: 3 39 5 69
Time Allowed: 03.00 hours CRE-2021 Maximum Marks: 180
G850 aa : 03.00 Q& : AR AIS: 180

Read the following instructions carefully before you begin to answer the questions.

Before answering any question, check the Booklet and ensure that it contains 32 pages and no page is

missing, mutilated or repeated. In case of any such defect, get it replaced immediately.

All questions are compulsory. Each question carries one mark.

There shall be negative marking @0.5 mark per question for wrong/muitiple answers.

This Booklet contains 180 objective type questions with multiple choice answers in FIVE Parts, as given below.
Part-I- Arithmetic- 40 Part-IV- Odia - 20 ;
Part-ll-General Knowledge-40 | Part-V- Computer-40
Part-lll- English - 40

Part-l and Part-Il 80 questions are available in both English and Odia version. In the case of discrepancy in

meaning, the English version will prevail.
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PART -1
ARITHMETIC : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read
each question carefully and answer them by selecting the right one out of the
multiple answers given below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple
answers.

1. The average age of 10 students and their teacher is 20 years. If the teacher’s age
is excluded, their average age reduces by 2 years. What is the teacher’s age ?

10 @8 219 6 6ddlaak doeaa QIIQIE @aa 20 oF | 98 dgaat QUK QIq
QaULNY, 6060 AN QIQIQ1G‘1 Qad 2 @ Q@AY | 6069 ASRER QUL 6R6Q 7

(A) 30 years (B) 35 years
(C) 40 years (D) 44 years

2. If4A=5B=6C,thenfind A:B:C

(A) 15:12:10 (B)12:10:8

(C)6:5:4 (D) None of these

93 4A =5B =6C, 6068 A :B: C6R6Q ?

(A)15:12:10 (B2 £10: 8

(C)6:5:4 - (D) YA FQ 6a66 Q62

3. ‘A’ starts a business with an investment of Rs. 2,500. Seven months later, "B’
joins with ‘A’ as a partner. After a year, the profits are divided in the ratio of 3:4.
How much did ‘B’ contribute ? '

‘A7 2,500 G 0&91 Q68 @Q Y9 Q4edig i) @a | Ao fig g6 B Y@
PRI Q6@ ‘A’ dQ 6aIel 28 | 6aIFY e deR MaR 3 : 4 dQUIOER Q&
QUL | 6969 ‘B’ 6060 ‘Eﬁ]& QEaE Q6m |

(A) Rs. 7,000 (B) Rs. 8,000
(C) Rs. 10,000 (D) Rs. 12,500

4. A watch is sold for Rs. 770 at a loss of 30%. For how much should it be sold to
gain 20% ?

caIGY Qaig 770 SEica 8 96R §9a0l 30 88 QU1 6969 YRIQ 6960 TEILR 44 .
QA 19801 20 AN 6297

(A) Rs. 1,000 (B) Rs. 1,110
(C) Rs. 1,230 | (D) Rs. 1,320

CRE-2021/A PIR.O



5. "A’ can finish a work in 18 days. ‘B’ is twice as efficient as ‘A’. If they work
together, in how many days, the work will be completed ?
(A) 12 days ' (B) 9 days
(C) 6 days (D) None of these

‘A’ 601GV Qigfe 18 Gaca @8aIca | ‘A’ Zicasl ‘B’ QRqél @8 | 98 canlen
RIOTEQ Y&l Qlera 2I9F] FAB, 6069 6a6e 06 QAT 6418 629 |

(A) 12 days (B) 9 days
(C) 6 days (D) YAIQ& FRIHQ 60610 q6g

6. A cistern is normally filled in 6 hours, but it takes 3 hours longer to fill because
of a leak at its bottom. If the cistern is full, the leak will empty it in :

(A) 18 hours (B) 24 hours
(C) 12 hours (D) None of these

6alGN @e ARSIV 6 WalER @éi Q‘O Q% Q1o QQQIQGQ @O éiql @l YQl gé
6Q9! AR RIQ 3 A AL QeS| 9 @@,G‘ aéiam 6069 @QG‘ 6@6Y dAdeQ Q19

dIR 989 ?
(A) 18 hours (B) 24 hours
(C) 12 hours (D) VAR FNQ 6266 Q60

7. A 150 metres long train passes a bridge at rate 90 km/h in 20 seconds. What is
the length of the bridge ?
(A) 650 m (B) 350 m
(C) 500 m (D) None of these
150 fioQ 63y 8de 661Gy 6o Wel G@ 90 &.4. 69616Q 916 QQ 6alIFY edima 20
6HEREEQ EIG‘G?Q @60l | 696Q GQI%}G‘Q GOQL( 6Q6Q ¢
(A) 650 m (B) 350 m
(C) 500 m (D) VAIR& ANQ €096 Q6Q

8. A boat man can row 36 km in downstream in 4 hours. If the speed of the current
is 3 km/h, then find in what time will he be able to cover 6 km upstream ?
@66 PIAQ €4I0Q UQQRRER 4 ALUER 36 A.4. algml AR | 9@ GQIGQ Qg go
696 3. @.4. @Y, 606 EREY AAEQ 64 64I9Q G@@@GQ 6 @.7. A0 QIR ?

(A) 8 hours (B) 6 hours (C) 2 hours (D) 4 hours

9. From a point on a circular tract of 12 km long, A, B and C started running in the
same direction at the same time with speed of 4 km/h, 3 km/h and 2 km/h
respectively. Then on the starting point, all three will meet again after :

[4n[Iaky QARQ FEEQ Y@ F9Q A, B ¥&° C arle dA96Q ¢ afle Ge6q gelaes
a%rg@ 464, 338, 6 2 a0, 6R06Q TR | 6960 €R6H AANSR AFg HFeE
gIQg] 996q 656 ?

(A) 3 hours (B) 4 hours (C) 6 hours (D) 12 hours

CRE-2021/A
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10. How much water be added to 16 litres of milk worth Rs. 6.75 per litre so that the
value of the mixture will be Rs. 4.50 per litre ?
e AeQ g8 6.75 ¢al Y QAR6R 16 A S1Q6R 6R66 QI AsIasm Ageaa A
A9Q g8 4.50 &1 6aQ? _
(A) 8 litres (B) 10 litres (C) 6 litres (D) 12 litres

11. Ratio of present age of Amit and Rakesh is 7:5. Amit will be 36 years old after 8
years. How old Rakesh is now ?
afio, ¥9° QUEaaQ QEAIR Q0GR AQAI 7:5 AT | 8 ad g6 260 Qad 36 Q8
629 | 6069 QUERCQ QAR QLI 6869 7
(A) 28 years (B) 20 years (C) 21 years (D) 15 years

12. A sum of money at simple interest becomes five times in 24 years. The rate of
interest per annum is :

(A) 203% (B) 182%

(C) 162% _ (D) None of these

cAlad U8 ARNR A0RY QIA6R 24 QF6R 5 G161 Q¥ 16069 ARRGYA QIR 6REQ 7
(A) 202% (B) 18°%

(C) 16:% (D) UFIR& ARG 6R6e gea

13. At what percent per annum a sum of Rs. 500 will amount to Rs. 864 in 3 years, if
~ the interest is compounded annually ?
6aQ 9998 QM QIRLR S00 Ol 3 QEcq 864 Gal €@, 9 Qg fea dd Gale
QUL 7
(A) 10% (B) 15% (C) 25% (D) 20%

14. Rahul invested 20% more than Bikash. Bikash invested 20% less than Kamal. 1f
the total sum of their investment is Rs. 8,280, how much amount did Kamal
invest ? : ,

QQIE 2easl QUM F9Q31 20 RIS UB G6R8 QEM | SN 268! GQIS F9Q0! 20
@ 98 G694 Qem | €@ g YAQ QI9ca 8,280 C@ 0B Gead @RI, 6060
QIR 6a6e OB G6adl @Qllen ? |

(A) Rs. 3,000 (B) Rs. 2,750 (C) Rs. 2,500 (D) Rs. 2,250

15. An article is marked 50% above the cost price and it is sold at a discount of 40%.
What is the gain or loss percentage ?
(A) 10% gain (B) 10% loss (C) 15% gain (D) 15% loss
€I Qaia e AR YRIa g6 AMOIQ G8G0l 50 U@ ¥e° VeI 69a6l 40
QRO QUKD @@ QRGN | 6062 JPRY| 6WEL MW 9 Y 649 7
(A) 10% Q& (B) 10% 86 C) 15%@Q (D) 15% 86
CRE-2021/A : P.T.0.



16.

17.

18.

19.

20.

2114

22,

23.

Fill in the missing number in the series 5, 11, 19, 29, -----
5,11, 19, 29, - 2229Q ZQAEe a6 g8 Qa |

(A) 31 (B) 52 (C) 41 (D) 51
Sumi the series 40 + 39+ 38 + ......... +11.

40+39+38+ ......... + 11 QAR CDIGICK 6R6Q ?

(A) 820 (B) 780 (C) 775 (D) 765

If the area of a triangle is 250m” and the ratio of the base and the height is 4 : 5,
then find its height.

A0 6aITY §Qaa 689R 250 @4 f. ¥9° ¥2IQ @ ¢ Q90IQ AQAIe 4 : 5 QY.
6960 VIR ARl 6966 ?

(A) 25m (B) 20m (C) 30m (D) 24m

The length of a rectangle is increased by 25%. By what per cent should the width -
be decreased to maintain the same area ?

6AIGY BIORCEQR CAdYQ 0901 25 98 @AY | YQIQ 98] 69@0l 6R6e 9fF
QEM G AR Q@S ?

(A) 33§% (B) 20% (C) 25% (D) zzé%

The diameters of two concentric circles are 14 cm and 12 ¢m. The area of the
region between them is :

Acleeq 988 Qad 9aQq Q1a faIgen 14 6d.4. 6 12 6af. | AR AYca SQl
6599 68CR 6060 ?

(A) 4m cm’ (B) 8w cm?’ (C) 13w cm’ (D) 52 cm?

The volume of a cube -is 512 cm’. The total surface area of the cube is :
Y9 A0 AR 512 Ae6d.f. | 606Q YQIQ dele] JEOP 89 6060 7
(A) 729 em? (B) 486 cm’ (C) 294 cm? (D) 384 cm’

A solid piece of iron whose length, breadth and height are 44cm, 42¢m and 21cm
respectively is moulded into a sphere. The radius of the sphere is :

44 cafl. 60af. 42 cafl. ga ¢ 21 cafl. apel 88 Y@ Q09 QAR FARIA
69T CAIRVER SREID ANV | 6969 CEIRRETR AT 6260 ?

(A) 21cm (B) 35cm (C) 42¢cm (D) 49¢m

V"3+\[3— hyl V'E-'\@ G
VE—V3  V5+V3

(A) 16 (B) 8 wcyy (D) 2V15

CRE-2021/A



24,

25,

26.

27

28.

29.

30,

31.

Ifa:b=2:3, then find (5a - 2b) : (a + 3b)
gGa:b=2:3QY, 6069 (5a—2b): (4 + 3b) 6GEE 7

(A)3:2 B)11:4 (C)4:11 (D) 1:1

]l T H—I_i I
273x\/;7814—? : J
(A) 1 (B)9 (C) 27 : (D) 81

Which of the following numbers is a perfect square number 7
RANGIE ASMIfIRR FANQ 6RaG 66T geadl aretil 7
(A) 2.56 (B) 0.004 (C) 0.036 (D) 12.1

What is the smallest number by which 10976 must be divided to make it a perfect
cube ?

696 FOOA CPel QIal 10976 @ QIEl Q6R G121 6AIEY adue Qe CRIRAIRE 7
(A) 2 (B) 4 ()7 (D) 8 ‘

If 11 eggs are bought for Rs. 10 and 10 eggs are sold for Rs. 11, what is the
percentage of gain or loss ?

(A) 20% loss (B) 20% gain (C) 21% gain (D) 21% loss

A8 10 0a16Q 11 & 2& Q6119 6 11 9&16Q 10 & 2g) 98 QUK. 6069 600!
6060 MIQ |l 88 609 7

(A) 20% 89 (B) 20% fIQ) (C) 21% RQ (D) 21% 86

10 examiners can evaluate 2000 answer sheets in 8 days. In how many days, 12
examiners can evaluate 3000 answer sheets ?

10 98 aQIga 8 A6 2000 ISl ARMIER RBAIAE | 6060 12 @6 ISR €AEO
Q06a 3000 @IS AR1leR QIS 7

(A) 20 days (B) 15 days (C) Hi days (D) 10 days

How many numbers up to 400 are divisible by 5 and 7 together ?
400 9678 6R69IT A6l QG 5 ¥9° 7 QIEI FAIRY 26 7 -
(A) 11 (B) 10 )9 (D) 12

The difference between 90% and 75% of a number is 225. Then find out 82% of

_the number.

CRlIGY E6MIQ SI0RA1 90 Ye° 040Gl 75 FNIER BRa 225 F6R | (06 AeITR
SORQ| 82 6960 ?

(A) 2250 (B) 1230 (C) 1500 (D) 1200

CRE-2021/A P,



32.

33.

34.

35.

36.

37.

38.

IfA:B=4:5and B:C=7:8,thenfind A ; C
OGA:B=4:59°B:C=7:8,6060 A :C660 7
(A)5:35 (B) 32: 35
(C)7:10 (D) 10:7

What is the smallest number which should be added to 7200 to make the sum a
perfect square number ?

7200 69 €09 FQOF A6l 6AIS F6R TR Y@ Cdosl Qoo 6g@ ?
(A) 196 Bas (C) 50 (D) 25

The ratio of two numbers is 5 : 6 and their H.C.F. is 6. Their L.C.M. is :

Qad CHIQ 2QAIe 5 : 6 6 CAAIRER 641G 6 26T | €06 A6 QAR MALY
660 7 _ _

(A) 180 - (B) 90 (C) 60 (D) 30

Efz of g of 1% of a number is 270, then 40% of the number will be :

0@ caIfy ePelia. =@ 2@ = Q AR 270 QU. 6069 6AQ APTMIR F9VI 40 6969
629 ?
(A) 810 (B) 324 (C) 135 (D) 108

Three numbers are in the ratio of 3 : 4 : 5 and their average is 36. The largest
number is :

B6QIT QeI &QaI® 3 1 4 : 5 G CAAIRER QARG 36 U6E | 6060 @9 CLGIF
6060 ?

(A) 54 (B) 45 (C) 36 (D) 27

What is the smallest number which when decreased by 5 is divisible by 16, 24, 30
and 32 7 ;

600 YO A°HNIQ 5 F6AUE Q6M FEAUGTR 16, 24, 30, 6 32 QA FAIRY 609 ?

(A) 475 (B) 480

(C) 485 (D) 490

Find the value 01"\/E = JE
4 5
\/E—\F-Q%HGQGG?
4 5 o

(A) 1 (B) = ©

9

) —

CRE-2021/A
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39. Ifa’+ b’ =80 and ab = 32, then find the value of Ei + %
1

3 5
(A) g B) 5
(&) % (D) can not be determined

06 a2 + b% = 80'99° ab = 32, 6369 — + - 6RES 7
a b

(A)Z (B):
©F : (D) f8IQ8 @q6ae Q1@

40. In an examination, there were 600 boys and 400 girls. 60% of boys and 50% of
girls passed. The percentage of candidates that failed 18
¥Q deufIea 600 @IRa 1e° 400 Q159! gen | a0 60 QURP ¥° d999! 50 QR
AesIca Qa1 CR6M | €06Q 99! 6R60 gied 6Crm, 6Q6m 7
(A) 40% (B) 44% (C) 50% (D) 55%
PART - 11
GENERAL KNOWLEDGE : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A B, C&D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple
answers. ' :

41. ‘Huma’ in Sambalpur district is well known for which of the following ?

(A) Majestic Waterfall (B) Hot spring

(C) Reservoir (D) Leaning Te:ﬁple
AARGe FiMQ ATRQ QIR “QAI” 6RAYAIR G806 ?

(A) QAR @RI (B) Q8d6l

(C) @Re8lQ , (D) @8 749

42. Consider the following personalities of Odisha :
[.  Justice Ranganath Mishra
II. Justice Ananga Kumar Patnaik
I1I. Justice Deba Priya Mohapatra
IV. Justice Gopal Ballav Patnaik
Who among the above personalities have been the Chief Justice of India ?
(A) T &I (B) 1 &1V
(O &IV (D) 1 & 111
CRE-2021/A : P.T.O.
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L GoI0d? qemiel Fig

II. Q91908 Q6P RAIQ AFQINe

I1. 961968 caefe, AQIalg

IV. 801008 caliiReqne a8alae

QUERI} MEQ AIOG ARUQ 6REAIEH QIAeR AW 891008 Ser 7
(A) 1Y99° 11 (B) 19e° 1V '
(C) 11 '9@° IV | (D) 1 ve° 111

43. Tides are caused by gravitational pull of the :

(A) Earth on the Moon (B) Earth on the Sun
(C) Sun and Moon on the Earth (D) Moon on the Earth
QQQ FRMegeNs, dags @lQEIG U %I@ Qa?
(A) 991Q 99 QEER (B) gg91a ga Qaea
(C) GI;I\EJ“T‘ VQ° 920 g2l Qe " (D) 049 9291 QaIEQ
44. Dayananda Saraswati founded :
(A) Brahmo Samaj (B) Arya Samaj
(C) Prathana Samaj (D) Bahujan Samaj
QAL AQLST 96 98 6clsm 7
(A) QIQ asle (B) aied aniQ
(C) 9l asie (D) 9gee ani@
45. Who among the following died in exile ?
(A) Rani Laxmibai (B) Bahadur Shah Zafar
(C) Tatya Tope (D) Nana Saheb
Ansie Auiq & FeTarea (04908 aaBitm 7.
(A) QU8 ag1ele) (B) Q1219 41QI @R
(C) 9132l 66'6a ' (D) QIR Q16QQ

46. Which tales are related with the painting and sculptures of Ajanta caves ?

(A) Panchatantra Tales (B) Pentamerone Tales
(C) Jataka Tales (D) Hitopadesha Tales
URQI CIFREQ 89l HRR! G QQTTQQI 6 QIQIEN aaae, 7

(A) 80 Q16! : (B) 6@@!6?16@19\ @l gl EN
(C) 0198 21Ql&n (D) QERI6R4 QlQIeN

CRE-2021/A
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47. Name the place located at the confluence of Alaknanda and Mandakini rivers.
(A) Badrinath . (B) Rishikesh
(C) Rudraprayag (D) Devprayag
2ARRFA G FRIGRT PA1IQ A ARQ QI @81 7
(A) Q91018 (B) Qfica4
(C) Q@ gaiel (D) 699 g%l

48. Match list 1 with List II and choose the correct answer from the codes given
below the lists.

List - I | List - 1T
(Dance form) (State)
a. Bharatnatyam I. Tamil Nadu
b. Kathak 2. Kerala
¢. Kuchipudi 3. Andhra Pradesh
d. Mohiniyattam 4. Uttar Pradesh
Codes :
abcd abced
(A)2143 (B) 1432
(C)4321 D)3412
SIRGI-1 @ CIARI-TI 42 6% 9@ Arca 98¢ ¢al0Q 40q aaQ g |
olnal I olnal I
| @eh | (QuaY)
a. QeRIA . QIfReIe
b. QUR 2. 6ROR
c. 909@ 3. ARYEQs
d. 6A1@MaSA 4. QQQY6QE
abcd abced
(A)2143 (B)1432
(C)4321 (D)3412

CRE-2021/A A



2.

49,

50.

51.

52.

Which of the following pairs is not correctly matched ?

Revolution Related to
(A) Golden Horticulture
(B) White Milk
(C) Blue Poultry
(D) Green Agriculture
FARSe AQ 6Ra1 a0a 6aI6 9aB ?
qge AAGE
(A) Q¢ QQYIe 98
(B) 649 Qe
(C) M@ aIRe 98
(D) 99@ o8

Which of the following pairs is not correctly matched ?

States Main Language
(A) Goa Konkani
(B) Meghalaya Khasi
(C) Nagaland Angami
(D) Sikkim Tibetan
QARGIo ARG 6966 A0Q €aIf Qa8 ?
ey qaiaisi
(A) &aliel CRI &8I
(B) 670G, Gl &l
(C) @IalmIg, g N
(D) d@9 Gcealq
The state having shortest coastline in India is :
(A) Goa (B) Kerala (C) Odisha
QL FY9oH Qc6ael 29l Uy :
(A) 6a112l (B) 680% (C) 6ol

(D) West Bengal

(D) 98096P

Who is the Supreme Commander of the Armed Forces in India ?

(A) General of Army (B) Defence Minister
(C) President (D) Vice President
QIeE6a 6da1QI201a d6dle caRIaE &Y 7

(A) 2R6a0I a6t (B) 99Q8I A1

(C) Q8O (D) QOQIE0E

CRE-2021/A
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53. Which one of the following jurisdiction of the Indian judiciary covers Public
Interest Litigation (PIL) ? '

(A) Appellate jurisdiction (B) Original jurisdiction

(C) Advisory jurisdiction (D) Epistolary jurisdiction

QOO0 MICIRAIQ FIRGe cIoYAla ANNG 98 QNS ACAIAR QIQIa
2998 7 _

(A) 2AQ9IQ 689U (B) H@¢ 689uaIQ

(C) aQUAE c8QURQ (D) 60 AfN1Q, c89URIQ

54. Who is the present Director General of World Health Organisation (WHO) ?
(A) Lee Jong Wook (B) Gro Harlem Brundtland
(C) Tedros Adhanom Ghebreyesus (D) Anders Nordstrom
G4 Q14 AFORQ QAAIAQ AQIREAER @Y 3
(A)R 6QlGP-a@ (B) 69l QIQEMA QeC'mIg
(C) 606gld arlIeqld] 6deQedddd (D) 2leQe G‘@(Q%\Q\

55. Which of the following taxes is levied by the Union and collected and
appropriated by the states ?
(A) Stamp duties (B) Passenger and goods taxes
(C) Estate duties (D) Taxes of newspapers
BORGe AN 6R6 MIAQ QIAS AaaIas QI FSIAS QU Ye° QIeY AaIaE QIal
21014 ¥9° A998 QY 7
(A) &g @46 (B) dicdsm Va° Qod Mied
(C) R6EQ 4% (D) Q4I96dd P Q@ 6ddQ

56. Which of the following Financial Institutions is the source of credit for small
industries ? '

(A) IDBI ' (B) SIDBI

(C) IFCI - (D) NABARD

BRde auMg caa ad ReleRian argl 98a aIR 2el Aeq ag 266 7
(A)ea 6 6 e (B) ¥4 2R € Q 2@
©eaverdaa (D) 91919

57. The Indian Railways has launched an App to help the passengers. What is the
name of the App ?

(A) Rail Sahay (B) Rail Seva (C) Rail Saral (D) Rail Madad

QIQ91E, 69F QIgIFIeE GRUAIR 2Re AG8al App Q I @4l ?
(A) 6% dQ1%, (B) 60 649! (C) 60R Ao (D) 698 A9Q

CRE-2021/A PiFi0.
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58. The world famous Navakalevar of the deities in Lord Jagannath Temple of Puri
takes place in which year ?
(A) Two consecutive odia nionth of Kartika
(B) Two consecutive odia month of Bhadraba
(C) Two consecutive odia month of Aswina
(D) Two consecutive odia month of Ashadha
gt 89 gq asiflee AGLR €a96! FlrER Gqgae PeRRaa (A oF QX 7
(A) Q166 G2 61l QA AIFER
(B) @71I619 6@l 6019l QIQ9 AIdER
(C) 21610 GJal 62l Eiga AIgea
(D) 271610 6@ 6ol 2TIR FILER

59. Who is the first Non-Indian to receive the Bharat Ratna ?

(A) Mother Teresa (B) Nelson Mandela
(C) Khan Abdul Ghaffar Khan (D) Amartya Sen
6aQ J604N QIR gaN AACAE IRdien ?

(A) F10Q 66'eadl (B) 6@mA0 Fcam!
(C) §llf 29gR SR ¢ile (D) 2AEY €aQ.

60. Which country was the champion of Men’s FIH Hockey Junior World Cup-2021?

(A) France ~ (B) Germany (C) Argentina (D) India
666 606l 9QE VLR UIQ ¥9 Q& @0a G4 8g -2021 @ ©°GaIe cQIRfiAl ?
(A) ging (B) @AlQ1 (C) &l (D) Q199

61. For which book Dr. Prativa Ray got Moortidevi Award ?

(A) Shilapadma (B) Yajnaseni

(C) Punyatoya (D) Chandrabhaga O Chandrakala
98 9oal QIS 694 2@ dIel AaTe91 QO AIRELR ?

(A) §196Q) (B) SIR6QQ1

(C) 961601y (D) 99QI8I G 9RKR!

62. Name the India’s first multipurpose Satellite ?
6RA0 QIREQ gaIr 9QIe! QUFQ 7
(A) IRS-T1A (B) CMS-01
(C) IRNSS-1B (D) INSAT-2A

CRE-2021/A



63. The source of energy of the sun is due to

(A) Nuclear Fusion (B) Nuclear Fission

(C) Collison of Atoms (D) Chemical Reactions
gal 98Q Aga 9108 6208

(A) GEQ RPN (B) @466 Gaien

(C) 9a51E] UQS (D) QIAILRe goaal

64. Decimal system in India was introduced by :

(A) Aryabhatta (B) Brahmagupta
(C) Bhaskara (D) Medhatithi
QAEER Q6Fe 0a8 QIQl QA AR FUAIRAR 7

(A) gicias | . (B)eese

(C) Q2R R (D) 65132

65. Which one of the following Bills must be passed by each House of the Indian
Parliament separately by special majority ?

(A) Ordinary Bill . (B) Money Bill
(C) Fiance Bill (D) Constitutional Amendment Bil

FORGie fNQ 6Ra AN QNS E°ea JERYR GRER dea @IetR 9g deiIEa
Q109 6Qal agal ?

(A) ARIQE IR (B) o' 9@

(C) 28a AR (D) AFdle JGeaR AR aR
66. Which one of the major rivers of Odisha does not have delta at its mouth ?

(A) The Mahanadi (B) The Brahmani

(C) The Rushikulya (D) The Baitarani

GEEIQ S8 901 FIER FNQ 699 AR1 ARIGEQ F6RIEQA Q1T ?

(A) FQIGT (B) Q18

(C) Q8QmY| (D) 636Q8!
67. Who is the present Chief Executive Officer of ‘Twitter” ?

(A) Satya Nadella (B) Anshu Jain

(C) Parag Agrawal (D) Ajaypal Singh Banga

QAAIQ “Twitter” @ 61 IQRIRG & ?

(A) AN Rleanl (B) 2°¢ 6@9

(C) dRuel aAsjEIn (D) aeaaif & Q&R

CRE-2021/A P.T.O.
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68. Among the following which Odia movies jointly won the National Award in the
67" National Film Awards ?
(A) Sala budhar badla & Sri khetra -Sz_lhi Jata
(B) Kalira Atita & Sala Budhar Badla
(C) Kalira Atita & Sri khetra Sahi Jata
(D) Sala Budhar Badla & Aadim Vichar
9?1@%1@ AeiQl cea o2 @9@@ Q@@ 67 9 QIE_%’IEI ool Qe ARe @ee
QUL JQH QAIR8ieR ?
(A) 691 QRIQ ARl Ye° ¢1689 AIf 19
(B) QIAQ 8919 YL° Rl QQIQ FGR
(C) RS 2916 Ye°© &168e Al 919
(D) 6% Q@la: QeI ¥e° aIde G0l

69. Which city Government has become the world’s first government to turn
completely paperless ?

(A) Moscow (B) New York (C) Dubai (D) Beizing
9eI91Q 6QQ 4999 AQRIQ gelfl egd QIFIQ §aY eI JR89 6QIRS 7
(A) Fl6g (B) A0 (C) Q9la (D) £RQ@a"

70. The Amazone Reef is located in which Ocean ?

(A) Pacific Ocean (B) Indian Ocean
(C) Atlantic Ocean (D) Arctic Ocean
BIAICRIR QP 6QQ ARIAINRLA 8QEQ ?

(A) g4} QI ' (B) Q@ AQIdICQ
(©) 2TRER AQIIGQ (D) A96Q AR

71. The national initiative named ‘Kayakalp’ was launched by which ministry ?
(A) Ministry of Science and Technology
(B) Ministry of Agriculture & Farmers Welfare
(C) Ministry of Women and Child Development
(D) Ministry of Health and Family Welfare
“@ala@®” QP QUL CAlQQ! 6Ra AREIRA, Qlal gy QaUaIag ?
(A) 856 6 998 o4 AREIRa,
(B) 98 6 Q88 QRS AR8IRL,
(C) AR 6 84 anlél AREIRS,
(D) 4igd G a[atal[o)] aalilel ARe6lRNd,

CRE-2021/A
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72. Which of the following categories of the images of Lord Ganesh is/are found in
the temple of Odisha ?

(A) Asina Ganesh (B) Sthanaka Ganesh

(C) Nrutya Ganesh (D) All of the above ;
AANES AMIQ Qaele dcasaa 69a gela. dal 6ada AQ AIREEe cadielg
FleR?

(A) 1@ Gl6é8g (B) 20 <lc8d

(C) 99 Sl6818 (D) QUI6QI8 99969

73. Who among the following became the first Martyr (Saheed) of Odisha during
British regime ? 4

(A) Veer Surendra Sai (B) Jayee Rajguru
(C) Laxman Naik (D) Raghunath Mohanty
AORGE ANg 956 A19RAIRER 6REIQ gad §21Q @Y Eem ?
(A) 910 9609 4l (B) @40 Qa9
(C) AgE QIR (D) QgQIel AQIF
74. ‘Rengali dam’ is built over which of the following rivers ?
(A) The Brahmani (B) The Mahanadi
(C) The Baitarani (D) The Rushikulya
‘CopR1 A9’ GARGe MY 6AA Q1 QAR AFTE 6QIRE 7
(A) Q1QéN (B) A1Q19Q1
(C) 639941 (D) Q8gaMl

75. Originating from Chhotanagpur plateau, the river Brahmani enters Odisha in
which district ?

(A) Keonjhar (B) Sambalpur - (C) Sundargarh (D) Bargarh
6216 Ql9gQ AIRQTQ QQE 6QIR QIQAN 921 BREIA (RA ARIEA F6aE REQ ?
(A) 622QQ (B) Ad9imdQ (C) 4oQel@ (D) @QelQ
76. Which of the following sanctuaries in Odisha is also known as ‘Turtles'
paradise’ ?
(A) Bhitarakanika Wildlife Sanctuary  (B) Kuldiha Wildlife Sanctuary
(C) Baisipali Wildlife Sanctuary (D) Gahiramatha Wildlife Sanctuary
GIGIQ FANGO UUQEN FINQ “QQ QId” QIR @Y a9 ?
(A) Q0RGaI 948N ARUQEY (B) @02l 2046 2QgiqeM
(C) 9RFaIR 211N AQUAEH (D) 9@a5el 94gI61 TQTHASM

CRE-2021/A : BT,
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77. The place “Inchudi’ in Balasore district is famous for which of the following ?
(A) Massacre during freedom struggle  (B) Salt Satyagrah
(C) Gandhiji’s first arrival in Odisha (D) S'ccnic beauty
QERER GAIQ ‘AYS’ FARGS AiQ caalidie gde ?
(A) qlI1ee! @9l AL SIEIQE] (B) maed dovielQ
(C) dIf@&a gals Ga4dl e (D) Q161€, sl

78. Which of the following statesmen is associated with Bhadrak district ?

(A) Biju Patnaik (B) Dr. Harekrushna Mahatab
(C) Janaki Ballav Patnaik (D) Nabakrushna Choudhury
GARSIe ANQ 6aE Je16l Q48 098 @ql dQ g ? ]

(A) §Q 989199 (B) 98 Q609 1Q0IQ

(C) Q9% 9nQ deQIae (D) P& colQ1

79. Which of the following places is known as “Biraja Kshetra’ ?

(A) Jagatsinghpur (B) Jajpur ' (C) Cuttack (D) Bhadrak
QARNGIS ARG 606 AMQ “AQRI 689" QQIANT ?
(A) @Q@@”QQ@ (B) dIeda (C) 9@ (D) @9%

80. Which of the following folk dances is mostly popular in Kalahandi district ?

(A) Chhau (B) Ranapa (C) Ghumura (D) Ghoda Nacha

RARGID ARG 606 AINYYY ARIQIE FRl6a AU cRIGTL ?

(A) 824 (B) Q&al (C) 996l (D) 6RIGI Q19
PART - III

ENGLISH : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple
answers.

Instructions for questions No. 81 to 85 :

Fill in the blanks with appropriate and correctly spelt words.

81. Gandhiji’s death was an loss to the country.

(A) wrrepairable (B) irepairable (C) irreparable (D) irriparable

82, The patient is admitted in hospital for acute :
(A) diarhoea (B) diarrhoea (C) diarrhia (D) dyrrhoea
CRE-2021/A




83.

85.

86.

87.

88,

89.

90.

91.

92.

93.

The boy was punished for of similar mistakes.

(A) repitition (B) repeatation (C) repitation (D) repetition

Any or in the affidavit will attract penalty.

(A) ommission, commission _ (B) omission, commission

(C) omission, comission (D) ommision, commision

The terrible news of Indira Gandhi’s spread like a flash of

lightening across the world.

(A) asassination (B) assasination:  (C) assassination (D) asasination
Instructions for questions No. 86 to 90 :

Fill in the blanks with correct form of the verb.

A pair of shoes _ lying in the corner.

(A) are (B) were (1S (D) am
It is you who cheated me.

(A) is (B) has (C) was - (D) have
Neither of the boys won a prize.

(A) have (B) has (C) was (D) are
Sixty years a long time for a country to grow and prosper.
(A) 18 (B) are (C) were (D) shall
The crew rescued from the sunken ship.

(A) was (B) is (C) were (D) am
The word ‘insolvent’ means

(A) rich (B) dangerous (C) notorious (D) bankrupt

Morning shows the day.

(Choose the appropriate Odia meaning of the above English proverb)
(A) 28] 208 97 | (B) 9941 QRAQQ 916 |
(C) 6IQ IQIQ, gne FIQIQ | (D) YR €18 Q2 Qe |

He was born with a silver spoon in his mouth.

(Find out the appropriate meaning of the above sentence)
(A) He was born in a rich family.

(B) He was born in a poor family.

(C) He was born in a middle-class family.

(D) He was born with congenital disorder in his mouth.

CRE-2021/A
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94.

g5.

96.'

97.

98.

99.

100.

101.

IR gIOEesq €19 |

(Translate the above proverb in Odia into English.)

(A). A penny saved is a penny gained.

(B) As you sow, so you reap.

(C) Take care of the pence and the pounds will take care of themselves.
(D) Il got, ill spent. :

Raja Ram Mohan Roy was an atheist.

(Choose the correct meaning of the underlined word.)

(A) reformer (B) rebel

(C) believer in God (D) non-believer in God
Instructions for questions No. 96 to 98 :

Fill in the blanks with appropriate prepositions.

Beware the pickpockets.

(A) from (B) of (C) into (D) at

I prefer death dishonour. .

(A) than (B) from (C) to (D) in

He could not comply my demand.

(A) to (B) with _(C) upon ' (D) against
I could not lay by anything for future due to my family compulsions.

(Choose the correct meaning of the underlined phrase.)
(A) save (B) utilise (C) gain (D) plan

The Commission decided to abolish the prevailing system of recruitment
examination.

(Choose the appropriate phrasal verb of the underlined word)

(A) deal with (B) deal in

(C) do away with (D) put forth

Instructions for questions No. 101 to 103 :
Find out the sentence which is grammatically correct.

(A) He is senior than me by two years.

(B) He is more senior than me by two years.
(C) He 1s senior to me by two years.

(D) He is senior than me for two years.

CRE-2021/A



102.

103.

104.

105.

106.

107.

108.

109.

110.

CRE-2021/A

(A) I as well as John is to blame. (B) I as well as John are to blame.

(C) T as well as John were to blame. (D) I as well as John am to blame.
(A) Lion is beast of prey. (B) Lion is a beast of prey.
(C) The lion is a beast of prey. (D) The lion is the beast of prey.

‘Autobiography’ means :

(A) The history of the life of a person

(B) A record of one’s life written by himself

(C) A piece of writing or speech in praise of a person
(D) A person’s own hand-writing

Happiness or sadness is transitory in human life.
(Find out the correct meaning of the underlined word.)
(A) permanent (B) pre-fixed (C) short-lived (D) inevitable

A person who lives at the same time with another :
(Substitute one word for the above)
(A) contemporary (B) accomplice (C) activist (D) adjutant

Prevention is better than cure.
(Choose the correct part of speech of the underlined word)
(A) verb (B) noun (C) adjective (D) adverb

The man was beaten black and blue by the villagers.
(Choose the correct meaning of the underlined phrase)
(A) slowly (B) moderately (C) severely (D) occasionally

The statement of the Principal was communicated to all in black and white.

(Choose the correct meaning of the underlined phrase)
(A) writing (B) speech (C) vain (D) protest
Instructions for questions No. 110 to 112 :

Transform the sentences into Indirect speech.

He said to me, “May you be happy.”
(A) He said to me that I may be happy.

. (B) He wished me that I might be happy.

(C) He wished me that you might be happy.
(D) He said to me that I might be happy.

I:I!t}
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111,

112,

113.

114.

115.

116.

Rama said to me, “Are you going there?”

(A) Rama said to me that you were going there.
(B) Rama asked me whether I was going there.
(C) Rama asked me whether you were going there.

(D) Rama said to me whether you were goiﬁg there.

The teacher said to me, “You are wrong.”

(A) The teacher said to me that you were wrong.
(B) The teacher told me that you were wrong.
(C) The teacher told me that he was wrong.

(D) The teacher told me that I was wrong.

sun rises in east.
(Fill in the blanks with appropriate Articles.)
(A) A, an (B) The, the (C) The, an (D) A, the

What is the feminine gender of “fox” ?
(A) bitch (B) ewe (C) heifer (D) vixen

The room needs repairing.
(Change the voice of the sentence.)

(A) The room needs to be repaired. *~  (B) Repairing is needed for the room.
(C) The room is being repaired. (D) The room has been repaired.

Instructions for questions No. 116 to 120 :

Read the following passage and answer the questions given below.

Socrates, the great Greek philosopher, staved in prison for thirty days before he
was finally executed. During this period of confinement, his friends and pupils
used to visit him regularly. They always found him in calm and cheerful mood.
He talked and taught his pupils as usual. He had no fear of death. One of his
pupils bribed the jailor to let Socrates escape from the prison. But Socrates
wouldn’t. On the day of execution, his friends and pupils were in tears, but he
was seen calm and cheerful as before. The Greeks used to execute people by
making them drink a deadly poison called ‘hemlock’. To every body's utier
surprise, Socrates took the cup of hemlock and drank it like a glass of water. Al
last, Socrates went calmly to death without weeping or complaining.

What is the meaning of the underlined word in the passage ?
(A) unhappiness ' (B) excitement
(C) imprisonment (D) depression

CRE-2021/A



23

117. How did the friends and pupils of Socrates find him in the prison ?
(A) angry and agitated (B) calm and cheerful
(C) worried and sorrowful (D) dejected and unhappy

118. How did Socrates behave with his pupils in the prison 7
(A) talked and taught his pupils as usual
(B) did not talk and teach his pupils
(C) told his pupils to arrange for his escape
(D) did not behave well with his pupils

119. How did the Greeks execute people ?
(A) by hanging (B) by beating
(C) by beheading (D) by making them drink hemlock

120. How did Socrates face the death ?
(A) calmly without weeping or complaining
(B) angrily protesting
(€) crying and shouting
(D) repenting and cursing
PART -1V
ODIA : 20 Marks
Feadlan : V& QI9IQ g6eiR gga A0% 0aQ aifl o A4 0d8 | ?q@"@ el ’;@
49 dualeq gegvue’ 9l 9ep GYdIadel ARQIeE (e d6QIarl QA Q&
Qg _
QR aaa @7 varie aaa AR g6 G8l 0.5 AId saeiN’ Geclel aaIda | _

121. 06 Qf Q&I HAAGE QIgia §R1 2ie 4aE G |
HOIGG P18 Ol GERVIA QIS
A eeie g9 (B) @190 A8l (O) caIeq G (D) Qaide

122. “YQI AIGER €10 AIY AIF " cRIQAENQ &e] Q& ?
(A) 8160 M €M 019 QUIA QU AIT (B) Q6dliel 6oa% giEq Zica QI

(C) 29I a9sie 6Qal (D) @68 7168 98 Q@9
123. “¥39Qena” ¢ea 2¢l Q4 ?
(A) 219 @i Q9 Q1@ (B) Q19! 960 @& QY Q1@
(C) Q1! U942 9 QY Q1§ (D) €121 998 FALNCER G

124. €194 dEQ F9Q 60 91290 FIQQ SAIaI, Q9 @CIW1ER @8 @Il ?
(A) post-partem (B) post-mortem  (C) post-natal (D) post-nuptial
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125.

126.

127.

128.

129.

130.

FARGO 6Ral 6RE YR 67608q 6 Q6Q
(A) digq (B) ail (C) 6169 (D) gfe.

ROATE 6aa QMG Ve 6dIFe AN 266 |

(A) 2IFl G G99 Q68 RN Q4& |

(B) 2%l 669696R 60 IQB6R, 6A606R6R Q6 Q90 QBRI
(C) 76al@ 6416160 9dal. Ale aRaiaml Q1d |

(D) 20919 QFGEQ 69 AIQILY REQ, I YRS 98 QI |

g8 696 QI8 |
(A) HGMO! (B) 641@Q40! (C) 1FEHQ! (D) 6dlagy

Q@1 69 “Inhabitable” Q @& Q8 ?

(A) Q@@ 62l

(B) Q@@ &6alsH

(C) A2 Goca 8l 66

(D) 6R696Q6R QI 6aIGH @ ERERERER Q1A Al

§Q-904aQ fol 6aIGd QI8 |
(A) 2el-aael (B) 29Q-2I8IQ (C) 4Qd-90Q (D) @19Q-210Q

6QQ QIR 2AQIC QRIQRAIAINE CI Qe ?
(A) ead gie  (B) alelgel (C) eQIFelg (D) aI26QId

g. (131-135) GrRdie Aeeaed 06 aaa G2 |

290 Ya glietea aasieoly aAIR adel 984 6060 QIAIa BIglR 6d olal
CRIRAIAIT: Qer AREY AR AieR 8, 9HIaQ AAAIRG! QRQIAR | Qa8 @.
ue afq Aa AAAIRGIA HIQ 957 99 AR IR IRA | 60¢ QAB!I A 98
Qa8 I9Q! 6ReR FREH AQEY G96Q Q6. QIR - QIR 6 6Q6-6ad AYeQ At
QRQIA8 | Hecen AITente caiadiel “Gq aanIeel Geald 90997 ca Q6R 0]
¥Qle d6q86 Q8 YOR Aedea QaRe elead “¢iAe QARG MMIQ” @ aQ
fesae RAla 9Incda Yo §de ada10R anq s, YAIQYA AR 6 CIFUR
QasMIQ | YAle Gga A8Q cedq 2ig 6 A°afi] ARRE @G AAARBIQ ANl
@528 | 2lag a8 codialg, §¢ RAAEHIQ Q0 FArE URKAIGE FRCER QAIQ
gge1a dfg 20R 89 gde a8l ol | BRiasa @raUetia 2609 RIS A9
r8 @618 216 9Qad | a8 AafIRel 6996a Y2 06 QR 0@, | F66Ess
QIO9ER 2aAIR0Ia Zegl 28 AMEe 93cR 28acad e AI@ | ¥ Geaidea
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QAAEY “CIAQ Ye° €Reo UM UQRIOE UG AAAIQ 66” cRlR ale FeURR |
VQIQ QIR e viieq 60a eeNief GlIRMIAE, 919 A9R6Q YOIR (R 699
AIQ 16Q€Q Q0 €18 LRAINE HRCER RIIL AIAA 89 €014 AGLIICIER ¢ 9546 -
CAID 2D AQRE 99 606 | AFsa QBRI 80 €0I6Q BRIN AN AR Q8
QIO19, dIaQ A1 e §oleel | FrMGas 88 vy Y0I6a 2I6d] d6alsRna Q6d, 9
6ARIER PN ARY 6Q4IQ CAIRE QRAIEA Q@ | CAIRE FRTEQ @914, 2R AIg
9¢.8 601’6l § QR | QAR IR TR 6QFQ EAIRE FARINEQ TR AAARRIQ
AR 2BIEA AR QRAIGR! | 9090 €Q QINPA WY FRrsie GIfe AAULR
QIO1E, 2, 9 AY GHQ AAIRY AR 1AMASEQ SE R0 G016 ERIGE QAR 26,
0.9 RS CRIRZRI €A6R BF 80 EOIER AL, FIQ 89 QRIQ O@ | QAITER a9
219, 6 URL0AQ dAINGlq A6lHIRRIR, Ao ALRIS AAAING! LR A GeN
GeIgIRd | 2N 606Q Y9 QQIQAE 6A4I | EI9 Q191G 2I9R or &ord § AGR
grq a1dens, agl §9Q AReA Q46 QMRS AR 6a9R YaI R4A6H
(28 %)6QIRZRII6R 919 HF6RER @219 QAUAIREQ! Vael (9Q %) QRAIEQ FIX
¥Rl @ | ¥AQ 2AFIR0IQ JQ1Q AIfIRe, 2J6Aoe 6 QIeRee gaie a@d 1606a
59 80 QG REARIQY EAIS 2L, 6 AR 6997 Y9 FQ QISQ °610IQ cQIRERIQ
6aRI6R GIR8 | 632 AR HAQ G2 2Qdica &8l 6 digy UId 8090] A 9
eIl QAICIY, 6968 COEQ GRABHIQ 98 QINQ BUR CRIR 98 | €90 J9ead
Qe cAl, Y@ 2AAARGIQ gaIe 698 afely &g, AGR 6 gead Qaea | IaIeE
el @ 2R 6QIREAIQ AFIFR AR A UAAIRGIQ QYA AR AQQS 624
QIaIee | 90 006! Ye° (8106 @8l &0 6REQ CPAa 694l QIS LA AT EAIR
aIsen Q@8. €aMIcH 6R 608 Goca Q@91 UAIGRN €98 AR QEQSR
QdQIg Q0QIQ RN AQERl CRUICIAR | €ANIEH F6REER QR 6RIOIRIT
RQRIQIE. 6d0I6a A Q1edIG, 9eIa Hag 00adIR 99ad | 6aaR R dR1
228, GeMIQRcQ At CaanIce A1 6aRIER A G6REa 99 90 @I & IR
21860 Q107 Q69IQ 9606Q L8] | QNG CARIRE 6AQIQ 986 ¢Qad | |

131. GIGYRA QesMIQ &9 2
(A) G170 AAAQINGT ISR RS
(B) GIAG AAARIAG AIAQ 99 Hedea
(C) Q68 Q4% RGIR
(D) @66 A48, 2TQ10%

CRE-2021/A P.T0,



26
132. QIQOQ 671G RI91E, 2ITQ 6A6O G918 JQEAIRE §aQ eIdely 7
(A) 18% " (B) 57% (C) 29.5% (D) 82%

133. QCERIR QR Q4RI 6QRLIAI ALAIFG! QBUIF 6AE 2R YLO GRIKIRR 7
(A) B9 696Q 2AR1L, 2RIIAER
(B) 969, 6061Q VR 2AUIAER
(C) Q6R 6QEQ 2L 6 AR 2GR
(D) QGQ 62419 AGRI-JQ8 F6aQ AR

134. 0Q QY Qg |
(A) 9gQ Q0 €91°8 UMERIRE AINER AQ 89 €016 Q@ 28 |
(B) QIQQQ A1 ¢ dFE0 cAIR ARG 6R6Q ZIAQ 99 €018 (ARG Aaad |
(C) Q9% (A) 6 (B) 04 |
(D) 620G & 0Q g6 |

135. QIO €4 6AISAIRE 6AQIQ 989 caad ?
(A) U9 G KIQT (B) OIQIa 6 Q4aicy
(C) 8¢, AR 6 geasl (D) QRRAIER

136. “@AQIO 90 g¥ 960R Y AAQ 60IRAR" Y@ QINeq Qal &y ?
(A) 9602 (B) ¥ (C) 99 g (D) @FQIQ

137. QQ QA1 “d QIgl 6264 RIQ” | Y@ goiS QEQ T6alS AR6A Q60 99 |
(A) Q3 @@al 9 QI9l 696dl Q1T | (B) 28 QI8! 6066l Q1T €RIR *GRI |
(©) 4 219! 6268 Q1T I 28 @GRl | (D) Q& Q18] 6064 AIT QIR ¢ AGA |

138. QA 9@ &lal Q4G Qlg |
(A) QR QP Q6 QRIQ ARV |
(B) @afld 2IsA0R A 28R |
(C) 991 §9Q €I 69 2R8I06R @IRAR AT |
(D) 9 daflal caiq 64 QI9Q 2O Ca6m |

139. €9 69 QR0Q QI |
(A) §191Q, 68991 (B) 1919, 89891 (C) d91q. 88991 (D) daiq. d8801

140. “A198Q A0R QI GRS RIQ 98 QU I” V@ QIMER CRCOIT e de 28 7
(A) 1 (B) 2 (©)3 (D) 4
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PART -V
COMPUTER : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple
answers.

The two kinds of main memory in a computer are :
(A) Direct and Sequential (B) Primary and Secondary
(C) Soft Disk and Hard Disk (D) Cache and Virtual

Which of these programs will you choose to write a letter to the head of an
institution ? _

(A) Notepad (B) Word Processor

(C) Spreadsheet (D) Graphic Processor

VIRUS stands for :

(A) Vital Information Resources Under Siege
(B) Very Important Resource Under Siege

(C) Vital Information Resource Under System
(D) Virus Information Resource Under Siege

What is the full form of e-mail ?
(A) Electric Mail (B) Electromagnetic Mail
(C) Electronic Mail (D) None of these

Which platform can you use for online meeting ?
(A) Zoom (B) Google Mcet
(C) Microsoft Teams (D) All of the above

The crime of stealing a password is called :
(A) Spooling (B) Surfing (C) Browsing (D) Spoofing
WAN stands for a

(A) Wired Area Network (B) Wide Area Network
(C) Wide Array Net (D) Wireless Area Network

Webpages are written using : !
(A) FTP (B) HTTP (C) HTML (D) URL
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150.

151.

152.

153.

154,

155.

156.

157.

158.

159.

Unsolicited e-mail is called a

(A) Spam (B) Backbane (C) Newsgroup (D) Usenet

Which facility can you use in MS Word to merge and print multiple documents ?
(A) Print Merge (B) Mail Merge

(C) Print Preview (D) None of the above

What programme is used in MS Word to check the spellings ?
(A) Speller (B) Spellcheck
(C) Outlook Express (D) None of above

In MS — Word every command is available in :

~(A) Printer (B) Letter (C) Menu (D) Software

Editing a document consists of reading through the document you've created,
then .

(A) Printing it (B) Deleting it

(C) Correcting any errors (D) Saving it

In word, you can use Word Art to :
(A) Make Copies (B) Delete Text
(C) Format Text (D) Save Text

Which among the following print commands should be selected to print first 5
pages of document :

(A) Page Setup (B) Page Control  (C) Print All (D) From_to_

What is the default font in MS Word 7
(A) Arial (B) Times New Roman
(C) Calibri(Body) (D) Gothic Bold

One cell format can be copied to another cell by using :
(A) Format Showing (B) Format Setting
(C) Format Checking (D) Format Painter

In Excel, each sheet in a workbook is displayed as :
(A) Tab (B) Marker (C) Arrow (D) None of these

What do you use to create a chart in Excel ?
(A) Pie Wizard (B) Chart Wizard
(C) Data Wizard (D) Excel Wizard
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In a spreadsheet, which button do you click to add up a series of numbers ?
(A) The AutoSum button (B) The Formula button
(C) The quick total button (D) The total button

Which function is use to display the current date and time in a cell ?

(A) Today (B) Now (C) Day (D) Current

Which function is used to join two cells in Excel ?
(A) Join Cells (B) Merge & Centre
(C) Wrap Text : (D) Align

In Excel, Columns are labelled as

(A) AB,C... (B) Al, A2, A (Whei2.3... (D) SASI, SBS2..

How many sheets are there, by default, when we create a new Excel file ?

(A) 1 : (B) 2 ()3 (D) 4

displays each slide of the PPT as a thumbnail and is used to re-,

arrange them.
(A) Slide Show ‘ (B) Slide Sorter ~ (C) Slide Design (D) Slide Display

Which shortcut key is used to exit from the slideshow ?
(A) Enter (B) Shift (C) Alt (D) Esc

Which file format can be added to a PowerPoint show ?

(A) .gif (B) .ipg (C) .wav (D) All of these
Which of the following is not one of PowerPoint view ?

(A) Slide Show View (B) Presentation View

(C) Outline View (D) Slide View

In PowerPoint presentation :

(A) Sound clips can be inserted but not movie clips
(B) Movie clips can be inserted but not sound clips
(C) Both cannot be inserted

(D) Both can be inserted

The slide that is used to introduce a topic and set the tone for the presentation is
called the :

(A) Table Slide (B) Graph Slide (C) Bullet Slide (D) Title Slide
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173.

174,

175.

176.

177.

178.

179..

180.

What is the default page setup orientation of slide in Power Point ?
(A) Vertical (B) Landscape :
(C) Portrait (D) None of these

Power Point Presentations are widely used as :
(A) Note Outline for teachers (B) Project Presentation by students

(C) Communication of planning (D) All of these

What is the best way to create another copy of a slide ?

(A) Click the slide, Press Ctrl + A and paste in new slide

(B) From Insert Menu choose Duplicate Slide

(C) Redo everything on the new slide that you had done on the previous slide
(D) None of these

is processed by the computer into information.

(A) Processor (B) Numbers (C) Data (D) Output

Computer Virusis a :
(A) Hardware (B) Software (C) Bacteria (D) Freeware

What is Backup ?

(A) Filter an old data from new data

(B) Copy to save a data from original source to other destination
(C) Access data from tape

(D) Connection of one network to more component

What is called the starting up on operating system ?
(A) Entering (B) Formatting (C) Starting (D) Booting

What is the shortcut key for Refresh ?
(A) F2 (B) F3 (C) F5 (D) F4

If the displayed system time and date is wrong, you can reset it using :
(A) Write (B) Write File (C) Calender (D) Nonge of these

Windows displays various options to shutdown. Which is suitable at the end of
day ? i
(A) Shut Down (B) Sleep (C) Hibernate (D) Restart
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